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1.5 {15 packet switching Ef: circuit switching 5 4 A /A EE S 48RS IE? (10 43)

2.(a) Dial-up modem 1 DSL(Digital Subscriber Line)&[ 2175 38 BE A Y BE 55 4 AR B IR 4G H4s - (H 2 At
)EHJE‘TLZLI'EI DSL [R5 {50 A BE s i s R A AP A R 24 - 152 Dial-up modem BFAIARTTIE? (5 47)
b)fEaR RGBSR TE B2 AN IR R 2 o S5R I reflection ~ obstruction by objects ~ K7
mterference =TEF R s 2 m ARt - (5 77)

3.Internet Protocol Suite T4y Elif4¢f&? 5= e —ZHYIHEE - (10 47)

4.(a)aH 73 AIfE L TCP #1 UDP T2 AR - (5 77)
(b) B ELRF R GBS HE A B S 5 A TCP - TfIWREE S & (4 H] UDP? (5 47)



5.Connection B]{{¢H& persistent/non-persistent B, in-band/out-of-band 2K 4344 - &[] HTTP ~ FTP ~ SMTP #
75 {5 FH 2P EEFERERY connection? {RAVZ ZEFEEHET H 32 EL connection ff{#E Y port number - (10 47)

6.(a)4 54 Al {52 FH Cookie F i AR B it FHIEHTT RUE? (5 47)
(b) FTP [y Passive mode ‘Z41{a[2E{E? (5 47)
()35 Rt DNS A{A[$2 4L load distribution ARTES ° (5 47)

7.Consider sending a large file of F bits from Host A to Host B. There are three links and one switch between A
and B, and the links are uncongested (that is, no queuing delays). Host A segments the file into segments of S
bits each and adds 40 bits of header to each segment, forming packets of L=40+S bits. Each link has a

transmission rate of R bps. Find the equation which expresses the delay of moving the file from Host A to
Host B. Disregard propagation delay. (10 47')

8. &7k FErLl T HURGIUE BB - (25 77)

(a)UDP checksum Z{&H] bit error HYH&H » ELHOEZ DL one’s complement HY VA IP header 1Y pseudo
header ~ UDP header {1 UDP payload [\ 16 fir 7T A BN AH 018 1 UDP 1Y checksum f#fIr ©

(b)Acknowledgement ] )&, Negative Acknowledgement 7R 541 sender US|y packet HiEzh o
(c)E4gi%1&A bit error B » WDAE(EFHETIEEE (timer) 3R {2 reliable data transfer -
(d)Go-back-N 5 receiver window & B} 2 (IIE {522 1Y £l (out-of-order packets) o

(e)Selective Repeat [y window size ZIIREANIF » U7 Al RE S A FIET AT E REE R 2 A



